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Question Number : 1 Question Id : 7155054312 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let D be the domain of the function f('{) =sin”" [ [.U.Ell (

If the range of the function g : D — R defined by g(x) = x — [x]. ([x] is the greatest

integer function), 1s (0. p), thena” + E 15 equal to

Options :

71550513611. 45
71550513612. 46
71550513613. 135

71550513614. 136
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20

20

80

Yes

0

1
715505265
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Question Number : 1 Question Id : 7155054312 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HATPEH f(x) =sin"’ {Iugj_r(ﬁ +2log; x]]ﬂ‘;ﬁ'ﬁD%I afe

—-Sx
¢(x) = x — [x]. ([x] 96<H QUlfes e &), GRIIRYNd B¢ : D — R HI
IR (o, ﬁ)%‘,?ﬁaﬁ%aw%;

Options :

71550513611. 45
71550513612. 46
71550513613. 135

71550513614. 136

Question Number : 2 Question Id : 7155054313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let . P be the roots of the quadratic equation * + \/6x+3=0. Then
i ] 3 14 14
a + +a + .

= ﬂlj = ﬁm 1s equal to
a’ +p " +a +

Options :

71550513615. 9

71550513616. 72

71550513617. 81



71550513618. 729

Question Number : 2 Question Id : 7155054313 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT R SR ¢ s 3 -0 B AT o, pEIH L Lt HP

l'._{li+fjlj+|'1|”+f_f“:l

W o
Options :

71550513615. @
71550513616. 72
71550513617. 81

71550513618. 729

Question Number : 3 Question Id : 7155054314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

jisoe] . I (= 1 _
j T . 51| .If B = | A . then the sum of all the
0 1 -1 -1] .

50
. , n .
elements of the matrix E B is equal to

=]

Options :

L
=

71550513619.

L

71550513620. 7



71550513621. 100

71550513622. 125

Question Number : 3 Question Id : 7155054314 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i - - 50
1 _l 1 2 | w] 23 "
AA=| 51|818E B= | A ‘%’,Eﬁ E B" &b
0 1 -1 —1] 1 1|
3qgal o1 A §:

Options :

=1

L
=

71550513619.

-1

L

71550513620.

71550513621. 100

71550513622. 125

Question Number : 4 Question Id : 7155054315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of five digit numbers, greater than 40000 and divisible by 5, which
can be formed using the digitz 0, 1. 3. 5. 7 and 9 without repetition, is equal to

Options:

71550513623. 72



71550513624. 96
71550513625. 120

71550513626. 132

Question Number : 4 Question Id : 7155054315 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feT gRIGRI &, 3iebl 0, 1, 3, 5. 7 TUT 9 & WANT 9 Uld 3{ehl Bl Fw13fi, Wil
40000 YS! &1 auT 5 ¥ fldurey &1, &t IEm &

Options :

71550513623. 72
71550513624. 96
71550513625. 120

71550513626. 132

Question Number : 5 Question Id : 7155054316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The sum, of the coefficients of the first 50 terms in the binomial expansion of

(1-x)19 s equal to

Options :

'S‘E'C
71550513627. 49



_9c

71550513628. 49
101,

71550513629. 50

_ 101,
71550513630. 50

Question Number : 5 Question Id : 7155054316 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(1—x)'° & fgue TER T YT 50 UGT & UND] BT TRT SRI6R o:

Options :

99
71550513627. 49
_99¢
71550513628. 49
101,
71550513629. 50

_ 101,
71550513630. 30

Question Number : 6 Question Id : 7155054317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

] o +li'rC Y et .
Relil. =M g ST RS L ST

If

then » is equal to

Options :

71550513631. 6



71550513632. 7

71550513633. 8

71550513634. 9

Question Number : 6 Question Id : 7155054317 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

- 0
n+1 n " 2

aR—"c,+=c +.”+% L :% o R E:
Options :

71550513631. 6
71550513632. 7
71550513633. §

71550513634. 9

Question Number : 7 Question Id : 7155054318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let C be the circle in the complex plane with centre T = l(] +3i) and radius r=1. Letzy = 1 +1and the
A\

complex number z, be outside the circle C such that [z, - zg| |z, - zg| = 1. If zp, z; and z, are collinear, then

the smaller value of f'zg|2 1s equal to

Options :



3
71550513635, 2

5
71550513636, 2

-
71550513637, 2

13
71550513638. 2

Question Number : 7 Question Id : 7155054318 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T R T B G0 C BT D5 2, = —(14+3) WU =11 T 2, =1 +i
"} \

2 U1 G  STER ATy G 2, THUBR S B |2 — 2| |22 — 20 = 1 B1 (S 2,
7, TUT 2, TG &, Tl |z, BT BIeT HH GRIEK o

Options :
3
71550513635, 2

b | L

71550513636.

o | =

71550513637.

71550513638.



Question Number : 8 Question Id : 7155054319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let < a, = be a sequence such that g, +a, +...+a, _[T:}I{_:j%}

ZSi = Py P5 Py---Ppy- Where py. py...... Py, are the first m prime numbers, then
m 18 equal

Options :

71550513639. 3

71550513640. 6

-1

71550513641.

71550513642. 8

Question Number : 8 Question Id : 7155054319 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

CmN Y [ 3
Tl < ay, = TP SJHH % [o[d® [T a, +a, +...+a, B .. %l fe
= H+ -2

. (n+1)(n+2)
ZSZ = Py P Py---Pyy B: T8I Dy, Poserers Py THH m UYWAY T, T m
W%.
Options :

71550513639. 5



71550513640. 6

71550513641. 7

71550513642. 8

Question Number : 9 Question Id : 7155054320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

sin- x
If the local maximum value of the function ¥ (T] — \/% W ,XE (01 E]

k N ke
JE—_.thﬂn[i} +A___‘+A—H1sequalt0
¢ e e

Options :

71550513643, e” + ° + ¢l!

71550513644, ¢° + &%+ ¢!°

71550513645, ¢ + & + g1l

71550513646, &° + &0 + ¢!l

Question Number : 9 Question Id : 7155054320 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Options :

71550513643, - + &5 + ¢!}

71550513644, &° + &%+ 10

71550513645, &° + & + g1l

71550513646. &° + &° + ¢!

Question Number : 10 Question Id : 7155054321 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of the region enclosed by the curve y = x° and its tangent at the point
(—1,-1)1s

Options :

71550513647. 4

71550513648.

27
71550513649. 4

71550513650.



Question Number : 10 Question Id : 7155054321 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
P y = x> AU 59 g (-1, —1) TR = a1 ¥ foR & 1 9w &

Options :

71550513647, 4

71550513648.

71550513649.

31
71550513650, 4

Question Number : 11 Question Id : 7155054322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let y=y(x). >0, be a solution curve of the differential equation (1 +x%) dy=y (r-1) dv. If y (0)=1 and

_1-‘[2;5 ]"- p. tl;en
Options :

71550513651.



eﬂ- =€_‘1'[3 | E\E)

& —e(5+72)

71550513652.

Fzg? (S+\E)

71550513653, ©

= U[3 +2«.E]

[J
71550513654.

Question Number : 11 Question Id : 7155054322 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g GHIBRT (1 + x2) dy=y(x—y)dx PIUD gl deb y =y (x), }"PD%I
afey (0)= 1T y(2v2)= p&. I

Options :
.
L
71550513651, ¢~ © (3+2v2)
|
3 5
71550513652, {(5+“J:)
=
_vﬁ = J‘_E 2
71550513653, y (54“J:)

€
71550513654.



Question Number : 12 Question Id : 7155054323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

{ » ||'_ 3
L. . Q. R and S be four points on the ellipse 9x* + 437 = 36. Let
)

PQ and RS be mu!uall} perpendicular and pass through the origin. If

I | 14
+ = ;: where p and g are coprime, then p + g is equal to

(PO)" (RS)
Options :

Let p|

71550513655. 137

71550513656. 143

71550513657. 147

71550513658. 157

Question Number : 12 Question Id : 7155054323 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o (a2 3 g
T e 9x2 + 4% = 36 RARfdg p %% ,Q.RTYUTS EIHFI

WPQ Hﬂﬂ RS IRER daad %atﬂﬁmmg@ GIPR lld & | Tfc

7o) (m;) _E IR p AU g U &, dl p + g SRISK &

Options :

71550513655. 137

71550513656. 143

71550513657. 147



71550513658. 157

Question Number : 13 Question Id : 7155054324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

f =
: ™3 |, : : :
If the pmnt‘ EI\T ‘ lies on the curve traced by the mid-points of the line
o F)

e
i

segments of the lines x cos 0+ ysin 6=7, ¢ e| 11% | between the co-ordinates axes.
then o 15 equal to
Options:

71550513659. —7

71550513660. —7/3

-1

71550513661.

71550513662, V3

Question Number : 13 Question Id : 7155054324 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Hﬁi@aﬁr cos 6+ ysin 6 =7, He[ﬂ£|$ﬁ_&sﬂr¢_ ﬂ&ﬁ%ﬁﬂi@@ﬁ%qm

2.
figaf gRIS 9p WU fag aai ERETCE

\

Options :

71550513659. —7



71550513660. —7V3

71550513661. 7

71550513662, V3

Question Number : 14 Question Id : 7155054325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

T i P
Let the plane P: 4x—y + 2= 10 be rotated by an angle o about its line of intersection with the

plane x + y—z=4.If ¢ is the distance of the point (2, 3‘: —4) from the new position of the plane P, then 350 18
equal to

Options:

71550513663. 85
71550513664. 90
71550513665. 103

71550513666. 126

Question Number : 14 Question Id : 7155054325 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T JHAA P dx —y + 2= 10 DI STD], THAA x + y—z = 4 Y WA S| &
b = 0

TqToE E%ﬁmwww%mﬁﬁg (2,3, — 4) B THAG P B 7Is UM

?E{\P[u%:HTESuW%:




Options :

71550513663. 85
71550513664. 90
71550513665. 103

71550513666. 126

Question Number : 15 Question Id : 7155054326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fi 5 3 o e
Letthelinesflz";h e 14=" f

be coplanar, If the point P(a. b, ¢) onl 1 15 nearest to the point Q(—4, -3, 2), then
|u| i |b 4 |Ci is equal to

andl, :3x+2y+z-2=0=x-3y+2z-13

Options:

71550513667. §

71550513668. 10

715505136609. 12

71550513670. 14

Question Number : 15 Question Id : 7155054326 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HETIE, - 2 *4=: dYT L, :3x+2p+2z-2=0=x-3y+22z-13
Jeadd gl tcht tr{%gp(a b, ca 45 Q(-4,-3.2) F Focang. o

lal+ |br+|ch%':

Options :

71550513667. §
71550513668. 10
71550513669. 12

71550513670. 14

Question Number : 16 Question Id : 7155054327 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be three distinct real numbers, none equal to one. If the vectors

~ . -~ -~ - -~ mnoom o~ l ] ] .
ai+j+k: i+bj +k and j+j+ ck are coplanar, then + + 13 equal

l-a 1-b 1-¢

to

Options :
71550513671. -1
71550513672. 1

71550513673. —

71550513674. 2

Question Number : 16 Question Id : 7155054327 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T a, b, c?ﬂ?ﬁﬁﬁﬁﬁﬁﬂ@ﬁ%ﬁﬂ%ﬂﬁ@ﬁﬁ@ﬂiaﬂmﬂﬁgl
afe afe=T ai+j+ks i+bj + k a4l 1+J+rkﬂﬁ:|?ﬁq%?ﬁ : +I]b+l _
— =@ 1=
Options :

71550513671. -1
71550513672. 1
71550513673. —

71550513674. 2

Question Number : 17 Question Id : 7155054328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let /]...EZ,(]:E,J?+ ;- k andf;:35—_;'-4-2,{-.Letf:beax'ectm'suchthat

(ﬂ:+;+A)

-

(@+b+¢)xé=0,d-¢=—17andj.g— (. Then|¢

equal to
Options :

71550513675. 46

71550513676. 49

L ]
Taa

71550513677.

71550513678. 62



Question Number : 17 Question Id : 7155054328 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ANl eZ,a=Ai+ -k Tp =3/ - j+2kTI T ¢ & g

-

EX(ii+j+£E]

.

(d +'h'+'(:)><(:=ﬂ,f\i'(:=—]?amg'f{=—20%|?ﬁ

Options :

71550513675. 46

71550513676. 49

L
Taa

71550513677.

71550513678. 62

Question Number : 18 Question Id : 7155054329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two dice A and B are rolled. Let the numbers obtained on A and B be ¢ and p respectively. If the variance of

. P . » W :
o-pPis E: where p and ¢ are co-prime, then the sum of the positive divisors of p is equal to

Options :

71550513679. 31
71550513680. 36

71550513681. 48



71550513682. 72

Question Number : 18 Question Id : 7155054329 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G U ATYIB B@I oA | AFT A TYT B IR UK G4 o TUTP 1 TG o - B
;o = s i)

mwi;%ﬂﬁpam UEUY B, dl p & YD YISTh| T TN GRIa

e

Options :

71550513679. 31
71550513680. 36
71550513681. 48

71550513682. 72

Question Number : 19 Question Id : 7155054330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In a triangle ABC, if cos A+ 2 cos B + cos C =2 and the lengths of the sides
opposite to the angles A and C are 3 and 7 respectively. then cos A —cos C is
equal to

Options :
3
71550513683. /



71550513684. 7

1|

71550513685.

0
71550513686. /

Question Number : 19 Question Id : 7155054330 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qﬁ@ﬁﬂaﬁlﬂﬁcosh—z cosB—-cosC=2%ﬁ‘iﬂﬁUﬁAﬂiﬂC$W
WﬁﬁmmiBHQT?%',ﬁcosA—CDECW%:

Options :
3
71550513683. /

10
71550513684, 7

5
71550513685, /

0
71550513686. /

Question Number : 20 Question Id : 7155054331 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Among the two statements
(S1): (p=qg)A(p A(~q))is a contradiction and

(82): (pAQ V((~p) AQV(p A(~q))V((~p) A(~q))is a tautology
Options :

71550513687. both are true.

71550513688 both are false.
71550513689, only (51) is true.

71550513690, only (S2) is true

Question Number : 20 Question Id : 7155054331 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
&l HUHI

(S): (p= Q) A (p A (~q ) T faRIHITERT B T

Sa): AV~ AQV(p A(~q)) Vv ((~p)A(~q) Wm%ﬁ EREES)
Options :

71550513687 I 9 §

71550513688, GIHI 39d §

71550513689, PAT (S1) T E



71550513690, Pad (S2) qas

Mathematics Section B

Section Id : 715505266
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505266
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7155054332 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of relations, on the set {1, 2, 3} contaiming (1. 2) and (2. 3). which
are reflexive and transitive but not symmetric, is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 21 Question Id : 7155054332 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T {1, 2, 3} W e, [ (1, 2) TUT (2. 3) B, YT O Wl SR HhHD
& TR YHIHd T8 6. Bl G ©

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054333 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 2k 2k -1
3 “¥ Ll
i b 2 ~ .
Let Dy=|p n +n+z " : Ifz D, =96, thennis equal to
pl 2
n n+n n +n+2 k=1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 22 Question Id : 7155054333 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1 2k 2k -1
oAl Do=n n+nt2 ot | glale ) D, =96, n IR
k=1

2 2
n no+n n+n+2

®

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054334 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the digits a, b, ¢ be in A. P. Nine-digit numbers are to be formed using each of
these three digits thrice such that three consecutive digits are in A P. at least once.
How many such numbers can be formed?

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054334 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

AT 3P a, b, c A.P.HEISTH I YIS 3@ B dIF TR WA B 9 A
DI WA 5 UPR &-T5 oflcl & & dIF HHNTD SBA0 &5 9 $H U6 dR AP,
T gl 39 UBR P fdoa! T=ATE g7 o bl o7

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054335 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the positive numbers a,, a,, a3, a4 and a; be in a G.P. Let their mean and

m

: 3 : ; ¥
variance be — and — respectively. where m and n are co-prime. If the mean of
H

their reciprocals is E and a; + a4+ a; =14, thenm +n 1s equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054335 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT 4T G- a,, a5, 23, a, AT a; T G.P. H § | HHI 30 H12 qUT JERUT
DHH: % am%%,aﬁmaeﬂn SHEUISY § | Tf¢ 34 Srsll & ogapHl &l

mm%%ﬂiﬂa3+a4+af= 14%,?ﬁ:11—nW%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054336 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let [x] be the greatest integer < x. Then the number of points in the interval (-2, 1), where the function

J(x)=|[x] |+x-[x] is discontinuous, i
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054336 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O [x] H6TH YUN® < x g1 d 3iavrd (-2, 1) § 34 fdgsfi, 5iei waq
F(x)=| [x] |+ x—[x] & 8. BT T B

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054337 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
0.15 k

It j. ‘100172 — 1| dx = —— . then kis equal to
s 3000

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054337 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
0.15 E
afe j’ [100x7 — 1]y =
—0.15 3000

Response Type : Numeric

e Al kR T

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 27 Question Id : 7155054338 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
X+

Let f{x}zhl' 7 dvandf(g]:12+?lug,{, 1TII(1)=a+ ?103{,(I+2\E]_.

4

X

then o 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155054338 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IFHT;H#[\J? cl‘fﬂ‘lﬂf{Q]:Q%—?lugUT%I gig

X
I(1)=a+7log, (1+2V2) 8, Wa* RERE____
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054339 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Two cireles in the first quadrant of radii ; and r, touch the coordinate axes. Each of them cuts off an infercept

of 2 units with the line x +y=2. Then rlJ + ,rf -1 is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054339 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wyn IqUi o ) YT, AT & 3l gd FHeie sl i wiard g1 370 9
YD X1 x + =2 ¥ 2 SPIg BT TS PIEAI g1 Tl 12 + 47—y, WA B:

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054340 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let the plane x + 3y — 2z + 6 = () meet the co-ordinate axes at the points A, B, C. If the orthocenter of the

\
triangle ABC 1s {aﬁ ? J  then 98 (o + §)” is equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054340 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A1 9HAd x + 3y - 22 + 6 = 0 Fa2nid 31&ff @1 fdgsii A, B, c R aar g | afg
ﬁﬂﬁr‘aﬂcwaﬁ%(mﬁ,?}% 98 (o + pP TWER T

J

\

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054341 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A fair n (n> 1) faces die 1s rolled repeatedly until a number less than n appears. If the mean of the number of

tosses required is Y then » 1s equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 30 Question Id : 7155054341 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

U A (n> 1) BAD] & U B g TR BT oldl & od ab (& n 9 HH
RS WIS 9 §1 9| Tfg 9 &1 G &l Wmﬁﬁmm—:—%ﬂn

TR &

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Physics Section A
Section Id : 715505267
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 715505267
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 31 Question Id : 7155054342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B move round the earth in the same orbit. The mass of A 1s
twice the mass of B. The quantity which 1s same for the two satellites will be

Options:

71550513701, Speed
71550513702, Kinetic energy
71550513703. Potential cnergy

71550513704, lotal energy

Question Number : 31 Question Id : 7155054342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATUd B 3UYE, Ul & URT: GHH B&TH URHGA PRIG 6| A DI GUHM, B P
SO H GAAT § | GiFl UG & [od olf 11T §HH 67, T8 o

Options :

71550513701, dIa]

71550513702, Tidw Holl



71550513703, UGS Gl

71550513704, P 59 !

Question Number : 32 Question Id : 7155054343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST1 LIST IT
A |Spring constant L IT'I]
B. |Angular speed II. {MT':]
C. |Angular momentum IIT: {}.;H_.z]
D. MMoment of Inertia IV, {}.;H_.z'['l]

Choose the correct answer from the options given below:
Options :

71550513705. A-L B-IIL C-II, D-IV

71550513706. A-1L B-I, C-IV, D-III

71550513707. A-IV. B-1, C-III, D-II

71550513708, A-IL B-III, C-1, D-IV

Question Number : 32 Question Id : 7155054343 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gl 11 i 11 F e &

g 1 T I
A [ Fadie L |1
B. [@ivig 9md IL |MT2
C. [@ivia dam I | ML
b s S
- fau e fam el T 9§ 981 SR I:

Options :
71550513705, A-L B-III, C-II, D-IV

71550513706, A-IL. B-I. C-IV, D-III

71550513707, A-IV. B-1. C-III. D-II

71550513708, A-IL B-III, C-I, D-IV

Question Number : 33 Question Id : 7155054344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : A truck and a car moving with same kinetic energy are brought to
rest by applying breaks which provide equal retarding forces. Both come to rest in
equal distance.

Statement IT : A car moving towards east takes a turn and moves towards north,
the speed remains unchanged. The acceleration of the car 1s zero.

In the light of given statements, choose the most appropriate answer from the
options given below

Options :

71550513709. Both Statement [ and Statement II are correct.

71550513710. Both Statement [ and Statement IT are incorrect.



71550513711. Statement I 1s correct but Statement II is incorrect.

71550513712. Statement I 15 incorrect but Statement I 1s correct.

Question Number : 33 Question Id : 7155054344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

HYF 1 : FHH TS Soll 9 90 36 UP <P U4 U DR DI, 9P AR
fgRraTaT & 9T ordT 8, Saids §d 99 Hed §d Ul ®Yd & | GiH 9HH
R 70 TR D a1g fRMEaRITH 31 |

HYF 11 : T34 DI TS 901 61 1D DR 434l 6 Ud IR B RP Fadl 8, e
D! I1d URaldd 5l o | PR BT @0 Y 5

Suad Byl & g o, e fau M fased! § 4 9aiiie Sugad SR 9H:

Options :

71550513709, DU 1 Ud HYU I A Tl g

21550513710, DY I Ud Y 11 &1 710d o

71550513711, PUT I TEI & TR~q PYUF 11 T0d €|

71550513712, PU 1710 § TR DU 11 TEI 5 |

Question Number : 34 Question Id : 7155054345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

The amplitude of 15 sin (1000 xt) 15 modulated by 10 sin (4 mt) signal. The
amplitude modulated signal contains frequencies of

A. 500H=z
B..2Hz

C.250Hz

D. 498 Hz

E. 502 Hz

Choose the correct answer from the options given below:

Options :

71550513713, A. D and E only

71550513714, A and B only
71550513715, A and C only

71550513716, A and D only

Question Number : 34 Question Id : 7155054345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

15 sin (1000 7t) BT 3T, 10 sin (4 7t) D RIUA gRI AT a1 A g
1Ty Higfed fwd ° srgfal g

. 500 Hz

S 5 L

.250 Hz

. 498 Hz

502 Hz

2 Ry e e & 4 o SR

Options :

e [0 8 o Wl s B -

71550513713, PO A, DTGE



71550513714, PO ATd B

71550513715, PAUA TG C

71550513716, PAd ATI D

Question Number : 35 Question Id : 7155054346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : When the frequency of an a.c source in a series LCR circuit
increases. the current in the circuit first increases. attains a maximum value and
then decreases.

Statement II : In a series LCR circuit, the value of power factor at resonance 1s
one.

In the light of given statements, choose the most appropriate answer from the
options given below.

Options :
71550513717. Both Statement [ and Statement I are true.
71550513718. Both Statement [ and Statement II are False.

71550513719. Statement I 15 correct but Statement II 15 false.

71550513720. Statement I 15 incorrect but Statement IT 1s true.

Question Number : 35 Question Id : 7155054346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

HYT1 : Od B! Julldg Ler IRUTY & Yrad Fid Hi 3 §¢lg ol 6,
g‘rqﬁwﬁwqﬁﬁm% AR 3P T YRV $dl 5, 39P &1 ged!
t

Y 11 : 4UIdG LCR URTY H, 31 i fufd # =ifdd 1ulies &1 A4 U
Bl g
Sudad HyHl & dey H, A iU T faeedl I 9 wallte 3uged S I

Options :

71550513717, PUA 1 Td HUA I &HI G G |

71550513718, PUT1Td BUF I GHI ST B |

71550513719, PUT 1 U € TReq DY 11 3T &

71550513720, PUT1 3 § IR-q PUT 1 FA G|

Question Number : 36 Question Id : 7155054347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of escape velocity of a planet to the escape velocity of earth will be:-

Given: Mass of the planet 15 16 times mass of earth and radius of the planet 1s 4
times the radius of earth.

Options :

71550513721. 2:1

71550513722, 1:4/2

71550513723. 4:1



71550513724. 1:4

Question Number : 36 Question Id : 7155054347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fordt 758 & qama o1 BT Gedi & g 971§ U1 §ITI:

331 3: U% B1 SoU9M, Gl & SH P 16 71 U4 98 &1 BT, gadl & Fw
BI4TRT

Options :

71550513721. 2:1

71550513722, 1:3/2
71550513723, 4:1

71550513724. 1:4

Question Number : 37 Question Id : 7155054348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body cools from 80°C to 60°C in 5 minutes. The temperature of the surrounding

15 20°C. The time 1t takes to cool from 60°C to 40°C 1s:
Options :

25
—8

71550513725, 3

L
=
=
o

71550513726.



71550513727. 450 s

71550513728. 420 s

Question Number : 37 Question Id : 7155054348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U® fus 5 e § 80°C ¥ 60°C dF &o1 8idl ¢ | ardiaRvl &l d98H 20°C 8 |
59 60°C ¥ 40°C TF 31 B H o1 95T ©:

Options :

25
—8
71550513725. 3

L
=
=
o

71550513726. 3

=
L]
]
7]

71550513727. -

71550513728. 420 s

Question Number : 38 Question Id : 7155054349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An engine operating between the boiling and freezing points of water will have

A. efficiency more than 27%.

B. efficiency less than the efficiency of a Carnot engine operating between the
same two temperatures.

C. efficiency equal to 27%

D. efficiency less than 27%

Choose the correct answer from the options given below:

Options :

71550513729, B and C only
71550513730, B and D only
71550513731, A and B only

71550513732, B: C and D enly

Question Number : 38 Question Id : 7155054349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl & S U4 feHid & i SERd UH So B

A GE&TT27% T 3P Bl

B. &l THH AMIaH| [9g3fl & did SR B 5o $1 a&fdl § HH gl
C. &l 27% B SRIER Nl

D. &l 27% I HH gl

3 fog e Riedi 2 O SR

Options :

71550513729, PAA B Td C

71550513730, a4 B Td D



71550513731, PO ATd B

71550513732, POU B, CTID

Question Number : 39 Question Id : 7155054350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the r. m. s speed of chlorine molecule 15 490 m/s at 27°C, the r. m. s speed of

argon molecules at the same temperature will be (Atomic mass of argon =39.9 u,
molecular mass of chlorine = 70.9 u)

Options:

71550513733, 451.7 m's
71550513734, 551.7 m's
71550513735. 651.7 m's

71550513736. 7531.7 m's

Question Number : 39 Question Id : 7155054350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qi¢ 27°C W IR U] B oFf B8 Gd 916 490 m/s § | FHH dT0EH WR S

3{U] 1 o] HTe0 TS A1 BT (3111 BT YT So0H M = 39.9 u, TR BT
H{UGdh SogH = 70.9 u)

Options :

71550513733. 451.7 m's



71550513734, 551.7 m's
71550513735, 651.7 m's

71550513736. 751.7 m's

Question Number : 40 Question Id : 7155054351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A particle 1s executing simple harmonic motion (SHM). The ratio of potential
energy and kinetic energy of the particle when its displacement 1s half of its
amplitude will be

Options :

71550513737. 1:4
71550513738. 1:3
71550513739. 2:1

71550513740. 1:1

Question Number : 40 Question Id : 7155054351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS TV TR HacTd DI IET 6| 576 59 B T (AR, TP TITH BT ST
§ 09 S9! R Soll ud fds 3l &1 34Td SHT:

Options :

71550513737. 1:4



71550513738. 1:3

71550513739. 2:1

71550513740. 1:1

Question Number : 41 Question Id : 7155054352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : If an electric dipole of dipole moment 3010 C m is enclosed by a
closed surface, the net flux coming out of the surface will be zero.

Reason R : Electric dipole consists of two equal and opposite charges.

In the light of above, statements, choose the correct answer from the options given
below.

Options :

71550513741, Both A and R are true and R 1s the correct explanation of A

71550513742, Both A and R are true but R 1s NOT the correct explanation of A

71550513743. A is true but R is false

71550513744, A is false but R 1s true

Question Number : 41 Question Id : 7155054352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
-1 31 B ST U B, U I SMUPHYT A Ud g8 DI BRUIR HBI AT §

HTUDYT A : TS 304107 ¢ m g8 3meul arean vs faggd fgya, fedi dg gy
I for1 8, A1 g8 ° Foa ard $d e &1 9 = g

PRUIR : (4544 [gyd ¥ & 99 U4 [au’id Sae sid g |
Sqed Yl & YepT=1 I, il f3U 7Y fasped! o 9 9l SR

Options :

71550513741, AU R &I Ul & dUT A B Ul TRATR B

71550513742, A4 R &Il 98l § 0T A Bl Hel URAT R &l &

71550513743, A9l 8 R TAA ©

71550513744, AT € IR eI ©

Question Number : 42 Question Id : 7155054353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A wire of resistance 160 € 1z melted and drawn in a wire of one-fourth of its
length. The new resistance of the wire will be

Options :
71550513745. 10 £2
71550513746. 16 £2

71550513747. 40 &

71550513748. 640 £2



Question Number : 42 Question Id : 7155054353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

160 Q TARIY aTd IR & [UUTaHR sUD! Tl & UD-I1Uls Tl & a6
T U qR ST 91T & | IR TP 741 Hfekied gI:

Options :

71550513745. 10 £2

71550513746. 16 £2

71550513747. 40 £2

71550513748. 640 &2

Question Number : 43 Question Id : 7155054354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I : The diamagnetic property depends on temperature.

Statement II : The induced magnetic dipole moment in a diamagnetic sample 1s always opposite to the
magnetizing field.

In the light of given statements, choose the correet answer from the options given below.
Options :

71550513749. Both Statement [ and Statement I are true.

71550513750. Both Statement [ and Statement IT are False.



71550513751. Statement I 1s correct but Statement II 1s false.

71550513752. Statement I 1s incorrect but Statement 11 1s true.

Question Number : 43 Question Id : 7155054354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 3l Py fqu U §:
HYF 1 : YT 07, TIAE R R SRar gl

HYF 11 : MO/ d 77 3 IR TS g 58a STul, Tad 3o b &89 &
faoid gien g |

SWdd Byl & e H, A fdu 7 fasedi § 9 9ailte 3ugad SR I

Options:

71550513749, PYU1 U4 FYF 11 &H1 Tel o

71550513750, DU I Td HYA I &1 7Tad o

71550513751, PU 1 TRI § TR~ YU 11 7T 5 |

71550513752, PUT L TTEd € TRg PY- 11 ¥51 &

Question Number : 44 Question Id : 7155054355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A ball 15 thrown vertically upward with an initial velocity of 150 m/s. The ratio of velocity after 3 sand 5 s 1s

iil.ThewMueofxis

X

:
{take, g =10 m/s"}

Options :

L

71550513753.

71550513754, 6

71550513755. 10

rJ.

71550513756. —

Question Number : 44 Question Id : 7155054355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

% Tig HHERR SR DI 3R 150 m/s T IRMIDB AT I BB odi 6l 3sTd 5 s
& a8 9P 3711 BT T ‘”_1%| x BT HH AR, ¢ =10 m/s?)

Options:

L

71550513753.

71550513754. 6

71550513755. 10

L

71550513756. —

Question Number : 45 Question Id : 7155054356 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Three forces Fj=10 N, F,=8 N, F3=6 N are acting on a particle of mass 5 kg. The
forces F, and F5 are applied perpendicularly so that particle remains at rest. If the
force F 1s removed, then the acceleration of the particle 1s:

Options :

71550513757, 2 ms ™~

71550513758, 7 ms™2

71550513759, 4.8 ms ™~

71550513760. 0.5 ms™

Question Number : 45 Question Id : 7155054356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

5 kg SOOTH & U HUI IR F,=10 N, F,=8 N Ud F;=6 N & oI §¢ 1l g | §a
F, Ud F, @&dd ¢ Ud U IR 28 YHR AR ¢ fb Sur faxmmaii 4 g1 afg
g F, DI gl [ol SIY, a1 U7 BT @RVl &:

Options :

71550513757 2 ms 2

71550513758, 7 ms 2

71550513759, 4.8 ms ™~

71550513760. 0.5 ms™



Question Number : 46 Question Id : 7155054357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An ice cube has a bubble mnside. When viewed from one side the apparent distance
of the bubble 1z 12 em. When viewed from the opposite side, the apparent distance
of the bubble is observed as 4 cm. If the side of the ice cube 1s 24 em. the
refractive index of the ice cube is

Options :
71550513761. 5

71550513762.

71550513763.

b | W

71550513764.

Question Number : 46 Question Id : 7155054357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[l 9% & U9 & 3aR U gadal & | U oRW U o UR gaqal B STHRA
X 12 em 7| FIORIT 21 ¥ S 1R gaqd &1 g3 4 em Wdlld il 5| A7 96
& G B! Yl 24em B, Al 4% & 94 DI SUTAAID &

Options:

6
71550513761, 3



71550513762.

71550513763.

L

71550513764, 2

Question Number : 47 Question Id : 7155054358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A proton and an g-particle are accelerated from rest by 2 Vand 4 V potentials,
respectively. The ratio of their de-Broglie wavelength 1s

Options :

71550513765. 2:1
71550513766. 4:1
71550513767. 8:1

71550513768. 16:1

Question Number : 47 Question Id : 7155054358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



U Uiel- Ud UP o-DhUl &l HhHY: 2 VUG 4 Vb gRI [d4™ I @Rd fdar S
g1 3! S-SRl TG BT SHU §:

Options :

71550513765. 2:1
71550513766. 4:1
71550513767. 8:1

71550513768. 16:1

Question Number : 48 Question Id : 7155054359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 12.5 eV electron beam 1s used to bombard gaseous hydrogen at room
temperature. The number of spectral lines emitted will be:

Options:

71550513769. 1

[

71550513770.

71550513771. 3

71550513772. 4

Question Number : 48 Question Id : 7155054359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



PHR & AMTHM TR @ T BI5GIeH UR 12.5 eV Tl Soigei f6h=0l 4ol §
HER] & Wl 51 SEold g5 SUacHl 131 &1 Hw=a1 il

Options :

71550513769. 1

[

71550513770.

71550513771. 3

71550513772. 4

Question Number : 49 Question Id : 7155054360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In an n-p-n common emitter (CE) transistor the collector current changes from 3
mA to 16 mA for the change in base current from 100 pA and 200 pA,
respectively. The current gain of transistor 1s

Options :

71550513773. 0.9

71550513774. 9

71550513775. 110

71550513776. 210

Question Number : 49 Question Id : 7155054360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



n-p-n SHAHY IHUD cifonex (CE) H YR URTH HH: 100 pA F 200 pA
% gRafid - & SUTe® URI ®1 A 5 mA F 16 mA B 9Id1 5| gI-orex &1
YRT ATH gl

Options :

71550513773. 0.9

71550513774. 9

71550513775. 110

71550513776. 210

Question Number : 50 Question Id : 7155054361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : EM waves used for optical communication have longer wavelengths
than that of microwave, employed in Radar technology.

Reason R : Infrared EM waves are more energetic than microwaves, (used in
Radar)

In the light of given statements, choose the correct answer from the options given
below.

Options:

71550513777, Both A and R are true and r 1s the correct explanation of A

71550513778, Both A and R are true but R 1s NOT the correct explanation of A

71550513779. A is true but R iz falze

71550513780. A is false but R 1s true



Question Number : 50 Question Id : 7155054361 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- &1 P [GU U B, U Bl 3P YT A Ud gHL Bl PRUIR H5I T |

AFUTY A : TSRS (ATTeHa) IR F W EM TR HT dTTed, TSR
dH-1 H Wad eI & avieed 9 981 glar g

®RUTR : Hadd degadad g aull B Holl JSR T Ygad Y&d ael B FHoll
3 3 BIil 5 |

SUdad Sl & Y 4, i f3u T fdwedl § 9 98 S

Options :

21550513777, A U4 R &1 TSI § IUT A & UgI TRATR &

71550513778, AU R &IFI el ¢ a4l A B Jol ARATR 761 §

71550513779, A ¥l § R ITAA ©

71550513780, AT 8 IR I ©

Physics Section B

SectionId : 715505268
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory

Number of Questions : 10



Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505268
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 7155054362 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A compass needle oscillates 20 times per minute at a place where the dip 1s 30° and 30 times per minute where

the dip 15 60°. The ratio of total magnetic ficld duc to the carth at two places respectively 1s —=. The valuc of x
Yo

15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 7155054362 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el I R S B g Wil FB-e 20 €6 PRl §, o6l 79 $IUT30° B, U4
vfafie 30 el &1 fUfd & 09 10 60° B 1 SF1 ®IFT R gedt & Fa

Wﬂﬁﬁdﬁﬂlﬁ%%lxaﬂﬂﬁ gl

Response Type : Numeric




Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054363 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To maintain a speed of 80 km'h by a bus of mass 500 kg on a plane rough road for
4 km distance, the work done by the engine of the bus will be KI. [The
coefficient of friction between tyre of bus and road 15 0.04.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054363 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fo ! GIGY I dIci IS TR 4 km P G b, 500 kg FOIHM dlcil &9 & gRI
80 km/h P I I 910 WA & 00, 9 & 5o gRI fan T &l
kT ¢ [@9 & ufedl Ud YSo & ald o1 u¥u] 07 0.04 B]|

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 53 Question Id : 7155054364 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

For a rolling spherical shell, the ratio of rotational kinetic encray and total kinetic energy is —. The value of x
s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155054364 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AgP1d gU EIRaal TMa® & for, YuiH i Sl Ud Pt Tias Sl o1 Surd
%%uﬁrnﬂ gl

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054365 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Glycerin of density 1.25x10° kg m™ is flowing through the conical section of pipe.
The area of cross-section of the pipe at its ends are 10 em? and 5 ecm? and pressure
drop across its length is 3 Nm™2. The rate of flow of glycerin through the pipe is
x%107 m’s!. The value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054365 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1.25%10° kg m™ U@ 91! [RRRIA, TP =il & YHIBR I H Jaled ol Wi 6 |
el & SifcH RRI & 3R DI BT 8ADT 10 em? TG 5 cm? B, U9 39D R
TR SIER 3 Nm 2 &1 7ol & <= [Tereis & UaE &1 a¥ xx10~° m3s 1 81 x B
e gl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054366 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



For a certain organ pipe, the first three resonance frequencies are in the ratio of
1:3:5 respectively. If the frequency of fifth harmonic i1s 405 Hz and the speed of

sound in air is 324 ms™! the length of the organ pipeis  m
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054366 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feplt o= 3T Teit & g, uedl i SrTE! SgiRal &l SFuTd hHs:
1:3:5 § | 9fg gi=rd] UNgii 1 SA1gft 405 Hz ©, Ud 81§ @11 &1 91

324 ms! B, A SR DI TEE_ mo

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155054367 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

64 identical drops each charged upto potential of 10 mV are combined to form a
bigger drop. The potential of the bigger drop will be mV.

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155054367 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

64 THTAM de o UAP B 10 mV IP AR famar mar 8, &1 fifdd o
US 991 46 SR 1% ¢ | 951 4 P [41a mV BT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054368 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The current flowing through a conductor connected across a source 1s 2 A and 1.2

A at 0°C and 100°C respectively. The current flowing through the conductor at
50°C will be x107 mA.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 57 Question Id : 7155054368 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fep il Hid o ORI T oS =1eie © 0°C UG 100°C TR PU: 2 ATG 1.2 ADI YR
yalfed 8icif g | 50°C TR 9@ H HaTfed URI &1 711 102 mA BT

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054369 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A conducting circular loop is placed in a uniform magnetic field of 0.4 T with its
plane perpendicular to the field. Somehow. the radius of the loop starts expanding
at a constant rate of 1 mm/s. The magnitude of induced emf in the loop at an
instant when the radius of the loop 1s 2 em will be Y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054369 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

T 9167 GAIPR WR1, 0.4 T UHHHH T 87 1 38 VPR W61 § b 551 701 &7 & 0 ¢
ww,ﬁﬁmlmm'sﬁﬂﬁﬁfﬁﬂ%l ﬁmﬂmﬁﬁﬁﬁw:cmﬁ,wwwﬁﬁﬁﬁﬂ
faqud a1 i 1 uRw WV B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054370 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two convex lenses of focal length 20 em each are placed coaxially with a separation of 60 cm between them.
The image of the distant object formed by the combination is at cm from the first lens.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054370 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

20 om BIFH G AT &I T o1, U G 318 R UP-GH 9 60 em 1 G4l WX | G ¥l O L,
WWWQ&@WW%@ cufg'\_ﬁtﬁml

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054371 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A common example of alpha decay 1s

238 234 4
9 U——w Th +2He A Q

Given :
U =238.05060u,
S3Th = 234.04360u,

90
th‘: =4.00260u and
u=931.5 M

L
. : 238171 s
The energy released (Q) during the alpha decay of o3 Uis MeV

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054371 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

UTh! &Y P YR 31830 &

238 234 4
o U—90 Th+,He" +Q

fearg:

238

o U =238.05060u,
24Th = 234.04360u,

90
‘He = 4.00260u Td

lu=931.5 Me\¥
o2

92

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

238 1 ] % Ucp1 &9 S SRA A g2 SN (Q) MV &l

10
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Section Id : 715505269
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Number of Questions to be attempted : 20
Section Marks : 80

Enable Mark as Answered Mark for Review and

Yes



Clear Response:

Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505269
Question Shuffling Allowed : Yes
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Question Number : 61 Question Id : 7155054372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A metal chloride contains 55.0% of chlorine by weight . 100 mL vapours of the metal chloride at STP weigh
0.57 g. The molecular formula of the metal chloride 15
(Given: Atomic mass of chlorine 13 35.5u)

Options :

71550513791, MCI
71550513792, MCl;
71550513793, MCl3

71550513794, MCly

Question Number : 61 Question Id : 7155054372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0% UTq FIRTSS B YR & 38R 55.0% TARH SUd § | STP TR U] FIRZS
@ 100 mL AT BT YR 0.57 ¢ §| YT FARTSS D aq%g%(%mnﬂm@%: FAMA
URHTY] SaHT 35.5u )

Options :



71550513791, MCI

71550513792, MCl;

71550513793, MCl3

71550513794, MCly

Question Number : 62 Question Id : 7155054373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The bond order and magnetic property of acetylide ion are same as that of

Options :

71550513795. 02

71550513796, N2

71550513797. NO™

71550513798. 02

Question Number : 62 Question Id : 7155054373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
URbfCTISS S B STe= HIfc Td H1g Ul [hHd IO 82

Options:



71550513795, O2

71550513796, N2

71550513797. NO™

71550513798. 02

Question Number : 63 Question Id : 7155054374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For lead storage battery pick the correct statements

A, During charging of battery. PbSO, on anode is converted into PbO,
B. During charging of battery, PbSO,4 on cathode is converted into PbO,
C. Lead storage battery consists of grid of lead packed with PbO, as anode

D. Lead storage battery has ~ 38% solution of sulphuric acid as an electrolyte

Choose the correct answer from the options given below:
Options :

71550513799, 4. B. D only

71550513800, B. D only

71550513801, B: C only

71550513802, B: C. D only

Question Number : 63 Question Id : 7155054374 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
oS U dcdl & gaY I, 95l dUHl Dl -
A. 92 & TR & ERM, TAIS W PbSO, URafid sidl § Pbo, H1
B. 4231 & 1Mol & GRIE, BUS W Pbs0, URafdd 8Idl § Pbo, H1
C. WS HaO® a9l § S B US [US Bial © (S8 HRT §31 PbO, TATS &I
S FRAT S|

D. TS Ya0® gl H [ded qued & T ~ 38% HeHRRP 3 sidl
gl

4 g g Rioedi 4 3 ol SR

Options :

71550513799, PAT A, B, D

71550513800, P9 B, D

71550513801, P94 B, C

71550513802, PG4 B, C, D

Question Number : 64 Question Id : 7155054375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Four gases A, B, C and D have critical temperatures 5.3, 33.2, 126.0 and 154.3K respectively.

For their adsorption on a fixed amount of charcoal, the correct order is:
Options :

71550513803. D=C=>B > A

71550513804. D> C>=A=>DB



71550513805. C=D>B=A

71550513806. C=B =D =A

Question Number : 64 Question Id : 7155054375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
IR I A.B,CUGD @I STl dTOH HH: 5.3,33.2,126.0 Ud 154.3K %l

IRGIT & Giftd OET R 3¢ ARy &1 9l o T

Options :

71550513803. D= C =B > A

71550513804. D= C=A=B

71550513805. C=D=B = A

71550513806. C=B =D >=A

Question Number : 65 Question Id : 7155054376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The density of alkali metals 1s in the order
Options :

71550513807. K =Na<Rb < Cs

71550513808. Na<K < (Cs <Rb



71550513809. K < Cs <Na<Rb

71550513810. Na<Rb =K =Cs

Question Number : 65 Question Id : 7155054376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&R YUTg3H1 & T-Icd D1 PH &:
Options :

71550513807. K<=Na<Rb<Cs
71550513808. Na<K < Cs =Rb
71550513809. K << Cs <Na <Rb

71550513810. Na<Rb =<K =Cs

Question Number : 66 Question Id : 7155054377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15 labelled as Reason R

Assertion A : In the Ellingham diagram, a sharp change in slope of the line 1s observed for
Mg —MgO at ~ 1120°C

Reason R: There is a large change of entropy associated with the change of state

In the light of the above statements, choose the correct answer from the options given below

Options :

71550513811, Both A and R are true and R is the correct explanation of A



71550513812, Both A and R are true but R 1s NOT the correct explanation of A

71550513813. A is true but R is false

71550513814. A 1s falze but R 15 true

Question Number : 66 Question Id : 7155054377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
-1 31 Y [ U B, U &1 SNy A Ud GIR | HRUIR Hel T 5l

fUPYTA: TRHRFH ~ 1120 °C
TR Mg —MgO & [0 a1 & g1 | dig gRac a1 T g

®RUT R: 3T T gRad- & 91y Tidl & 87 uRad os1 5 |
S Syl & Y1 4, A U 71U faped! & I 981 SR 9

Options :

21550513811, ATG R &I Ul & a4l A P Tol TRATR T

71550513812, AUG R G "l § 04T A B! el ARATR 81 ¢

71550513813, A 96l 8 R IAA ©

71550513814, AT € TRIR el ©

Question Number : 67 Question Id : 7155054378 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Tvpe of Hyvdride Example
Electron deficient hydridel 1. [MgH;
[Electron rich hyvdride II. HF
Electron precise hydride |III. [BoHg
Saline hvdnide IV, |CH,

IGEE

Choose the correct answer from the options given below:
Options:
71550513815, A-IL B-IIL. C-I, D-IV

71550513816, A-IL. B-III. C-IV, D-I

71550513817, A-IIL B-IL. C-IV. D-1I

71550513818, A-IIL B-II, C-I, D-IV

Question Number : 67 Question Id : 7155054378 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Al 1 BTl 11§ e &Y
Tl I eIl 11
TESEE FT ISR RS
A FaEHgieEges [ L MeH,
B. [EoideH 9% gRas | 1L [HF
C. [geigei IR Blegree| 1L BoHs
D. [aUid 8153135 IV. [CH,
g f3U T f9e el & O el SR T:
Options :

71550513815, A-IL B-III, C-I, D-IV



71550513816, A-IL. B-III. C-IV, D-I
71550513817, A-IIL B-II. C-IV. D-I

71550513818, A-IIL, B-II, C-I, D-IV

Question Number : 68 Question Id : 7155054379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In the given reaction cycle

CaCl, + Na,CO; ——= X ¢ Y

o

X. Y and Z respectively are

Options :

X Y L

71550513819. CaQ NaCl+ CDE NaCl

X i Z

71550513820, a0 NaCl+CO,  KCI

X Y L

71550513821, €aC0;  NaCl HCl

X Y £

71550513822, CaCO3  NaCl KCl



Question Number : 68 Question Id : 7155054379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feu e sifvfehar & ferg

CaCl, + Nay,CO; —> X+ _Y

o s

X, Y U4 Z §, pa:
Options:

X Y =

71550513819, €a0  NaCl+CO,  NaCl

X X Z

71550513820, Ca0  NaCl+CO,  KCI

X Y =

71550513821, €aC0;  NaCl HCl

X Y L

71550513822, CaC0O;  NaCl KCl

Question Number : 69 Question Id : 7155054380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I : Boron is extremely hard indicating its high lattice energy

Statement II : Boron has highest melting and boiling point compared to its other
group members.

In the light of the above statements, choose the most appropriate answer from the
options given below

Options :

71550513823. Both statement I and Statement I are correct
71550513824. Both Statement I and Statement IT are incorrect
71550513825, Statement I is correct but Statement IT 15 incorrect

71550513826. Statement I 1s incorrect but Statement II 1s correct

Question Number : 69 Question Id : 7155054380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIEEAGRIC T
DY : TR JANP FER © ol 39P 3= D 391 Bl gHld Hal gl

éﬁmll:wﬁé? 3 Ga| B gal & AR 1 a1 Ud SYHid Jaiie
l

Sugad ®YHl & T H, e fau Ty faswedl § 9 Hallte Iuged S 7

Options:

71550513823, Y11 Td HYTI1 G ol & |

71550513824, PUA 1 U4 YA 11 SH 7T g



71550513825, PU 1 TGI & UR=g YU 11 7T 5 |

71550513826, PU 1 TTEd € TR-q PY 11 T8I &

Question Number : 70 Question Id : 7155054381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : SbCls is more covalent than SbCly

Statement II: The higher oxides of halogens also tend to be more stable than the
lower ones.

In the light of the above statements. choose the most appropriate answer from the
options given below

Options :

71550513827. Both statement I and Statement II are correct
71550513828. Both Statement [ and Statement I are incorrect
71550513829. Statement I 1s correct but Statement IT 15 incorrect

71550513830. Statement I 15 incorrect but Statement I 1s correct

Question Number : 70 Question Id : 7155054381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A &l HyF Ry T E:

HYF 1 : SbCl, B ga-1 H $bCls 3P Tgdaei g

HYA II: TG D 3= TGS (9 DI ol § e wd gld 8
Suded Byl o e T, i fy e faeedl I 9 walfie Suged 3w 9:

Options :

71550513827, PYUAIUd HYF I &HI el o

71550513828, PUTIUd YT I &I Tad & |

71550513829, PU 1 TGI & TR=g YU 11 711 5 |

71550513830, PUT 1 TTCd 8 UXq HYH 11 961 & |

Question Number : 71 Question Id : 7155054382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statement: one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A: 5f electrons can participate in bonding to a far greater extent than 4f
electrons

Reason R: 5f orbitals are not as buried as 4f orbitals

In the light of the above statements. choose the correct answer from the options
given below

Options :

71550513831, Both A and R are true and R 1s the correct explanation of A

71550513832, Both A and R are true but R i1s NOT the correct explanation of A



71550513833. A 1s true but R 1s false

71550513834, A is false but R 1s true

Question Number : 71 Question Id : 7155054382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- 31 $YA fGU U B, TP Bl STHBYUT A Ud TR D] HRYTR HEI T4 ¢

arfiﬁi%u?m AfZAaCHl B QAT H 5£ A SfaRH 8 SfYd qEn S YT d
JPd gl

BT R: 5 HUP 3 g1 94 GBI & 1ol 1 4 P& |
Sudad HUAl & YPI H, A U T faedi & 4 98l SR 9:

Options:

71550513831, A U4 R &1 TSI § 94T A & UgI TRATR §

71550513832, AU R &IF| el ¢ a4l A ] Jol ARATR 61 §

71550513833, A TGI8 TG R TTAA ©

71550513834, ATTAA 8 IR T/ ©

Question Number : 72 Question Id : 7155054383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST I
Complex CFSE (A,)
A [[CuNH) % I 06
B. [[Ti(H,0)] ** I |-2.0
C. [[Fe(CN)e] 3~ |12
D. [NiFg] IV. |04

Choose the correct answer from the options given below:
Options :

71550513835, A-IIL. B-IV, C-I. D-II

71550513836, A~ B-IV, C-II, D-III

71550513837, A-IL. B-III, C-I. D-IV

71550513838, A-L. B-II, C-IV, D-III

Question Number : 72 Question Id : 7155054383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 1 T el gl 11 9 &6
g T I
Tpd CFSE (A,)
A [[CuNH( 2 I o6
B. |[[Ti(H,0)4] ** I |20
C. [[Fe(CN)g] ™ |12
D. [NiFg] IV. |04
e feu e fom el & 9 Hel 3R I
Options :

71550513835, A-IIL. B-IV. C-I. D-II



71550513836. A-I. B-IV., C-II. D-III

71550513837, A-IL B-IIL, C-1, D-IV

71550513838, A-1. B-II. C-IV, D-III

Question Number : 73 Question Id : 7155054384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST IT
A [Nitrogen oxides in air 1. |Eutrophication
B. Methane 1n atr II. |pH of rain water becomes 3.6
C. |Carbon dioxide II1. |Global warming
D. [Phosphate fertilisers in water] IV. |Acid rain

Choose the correct answer from the options given below:
Options :

71550513839, A-L B-IL. C-III, D-IV

71550513840, A-IL B-III, C-I, D-IV

71550513841, A-IV. B-IIL. C-II. D-I

71550513842, A-IV. B-II. C-III, D-I

Question Number : 73 Question Id : 7155054384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

il 1 T foe 9=l 11 9 &6
T g I

A [arg ¥ ArZee ey L [guieer (gelihese)

B [ag ¥ oua I1. 991 oI @1 pH 5.6 B1 oIl &

C. [mEd eEsliazs 111 [velled anfiT (yHeal diugle)
D._ [oie | threhe Idim IV. |3 aut

- fau e faeredl O 9 el SR 9

Options :

71550513839, A-I B-IL. C-III, D-IV

71550513840, A-IL, B-III, C-I, D-IV

71550513841, A-IV, B-III, C-II. D-I

71550513842, A-IV. B-II. C-III, D-I

Question Number : 74 Question Id : 7155054385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Correct statements for the given reaction are :

0 O
R

OH B’
2eq

y
O (OH
..'"l

A. Compound 'B' iz aromatic

B. The completion of above reaction is very slow

C.'A’ shows tautomerism

D. The bond lengths of C-C in compound B are found to be same

Choose the correct answer from the options given below:

Options:



71550513843, A. B and C only

71550513844, B: C and D only

71550513845, A, C and D only

71550513846, A B and D only

Question Number : 74 Question Id : 7155054385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

feu e Sifirferan & fom

O OH
A

o L O

A. it B WA §

B. 3daa JHfNfehar &1 guiar siead et §
C.'A' Tarqyad] YaRid Rl 8

D. Ui B § C-C I otaly 99 9l 715 ©

1= feu Y faeedl # 9 el IR T4

Options :

71550513843, PAAA, B AR C

71550513844, PG4 B, C HR D

71550513845, DA A, C 3R D



71550513846, PATU A, B HR D

Question Number : 75 Question Id : 7155054386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) Oy
2-hexene — > Products
(i) H,O

The two products formed in above reaction are -
Options :

71550513847. Butanoic acid and acetic acid

71550513848, Butanal and acetaldehyde

71550513849, Butanoic acid and acetaldehyde

71550513850. Butanal and acetic acid

Question Number : 75 Question Id : 7155054386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) O

2-hexene — > Products
(i) H,0

Sudaa sififerar § Fifd gl SamE B -

Options :

71550513847, ACTIRP 51 d-h'{aii P IR



71550513848, ®ACC 3?]?35 IEBEIES
71550513849. ”\% Lk EJ-FITQE %[53@55

71550513850, SAC1d 31 UHifed s

Question Number : 76 Question Id : 7155054387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the following reaction

O .
(1) Mg
- —> ‘A’ (Major Product)
(1) H,O

Br
Ails
Options:
OH
71550513851.
O
71550513852. OH Br

71550513853.



AN

MgBr
OH

MgBr
71550513854. OH

Question Number : 76 Question Id : 7155054387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬂﬂﬁﬁaﬁﬁﬁiffﬁji
O .
(1) Mg |
- > ‘A’ (Major Product)
Br (”) H?_O
Options :
OH
71550513851.
O
71550513852. OH Br

71550513853.



MgBr
OH

MgBr
71550513854. OH

Question Number : 77 Question Id : 7155054388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0

|
Me —C M OFEt™
C—CH; —> ‘A

I & major Prod
O jor Product

A 1n the above reaction 1s:

Options :
8] 8]
| |l
Me —Cou e WC_CHE
&= CH =
| |
71550513855. Me 0
O
ﬁ (l;“!_ CH;
e oy S P l
C=2¢C TOTR TN
| ¢ —CH;
Me I
71550513856. 0

71550513857.



Me

)
71550513858.

Question Number : 77 Question Id : 7155054388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
0

|
Me —C OEt™
C—CH; —> ‘A

I 4 major Prod
0 jor Cro uct
Sydad sfufrar H A ®:
Options :
0 O
I I
ey iy g WC_CHa
C=CH— C
| I
71550513855. Me O
0
: d_cn,

Il
Me —C P PTG e
ool i —m_ R
| HEGEIS
Me I
71550513856. 0O

Me 0

Oyt
71550513857.



Me

(}
71550513858.

Question Number : 78 Question Id : 7155054389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The major product 'P' formed in the following sequence of reactions 1s

OH

~ / (i) socl,
0 ——> ‘P’ (Major Product)
(1) R-NH,

(iti) LiAlH,
(iv) H;0"

Options:
H
/ N—R
O
71550513859.
H
N=—=R
A
OH
71550513860.
H
N—R
N

71550513861.



OH

71550513862.

Question Number : 78 Question Id : 7155054389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

sfifcrarsiie -4 ou o Aidd o= 3@k P &
OH
™ (i) R-NH,
(iii) LiAlH,
(v) H;07
Options :
H
/ N—-R
O
71550513859.
H
N—R
X
OH
71550513860.
H
N—R
R
71550513861.

71550513862.



H—=N—R
OH

Cl

Question Number : 79 Question Id : 7155054390 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The incorrect statement regarding the reaction given below is

Me— N —Me

+ NaNO, + HX —> ‘B’

f.A’
Options :

The product 'B' formed in the above reaction is p-nitroso compound at low
71550513863. temperature

71550513864, Lhe reaction occurs at low temperature

71550513865, Lhe electrophile involved in the reaction is NO™

71550513866, B 15 N-nitroso ammonium compound

Question Number : 79 Question Id : 7155054390 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



= g g siftferar & ded d ea YA B
Me— N —Me

+NaNO, + HX —> ‘B’

LA’
Options :

21550513863, SUda bl H &8 arguH W MiHd IdE B p-Age 4! UIfD §

71550513864, ATHHAT -9 A0HM 1R TUIied aidl & |

71550513865, ATHEHAT H AT ST Hel, NO™ 8

71550513866, 'B' N-TS2I HIFTH Qe |

Question Number : 80 Question Id : 7155054391 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
{(Examples) {Type)
A |2-chloro-1_3- butadiens] 1. [Biodegradable polvmer
B. [Nylon 2-nylon 6 II. |Svnthetic Rubber
C. |Polyacrvlonitrile 1. [Polyester
D. [Dacron IV. JAddition Polymer

Choose the correct answer from the options given below:
Options:

71550513867, A-IL. B-IV, C-I. D-III



71550513868, A-IL. B-I. C-IV, D-III

71550513869, A-IV. B-I. C-III. D-II

71550513870, A-IV. B-III. C-I. D-II

Question Number : 80 Question Id : 7155054391 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1 T fire gt i 3 o
1 T I
(SSTexu) (UPT)
A bR ez 1 [od Raieiy agad
B. A 2-AsaH 6 | 11 [{=ciftid TR
C. [aretfrarseRa | [ofaeR
D. [e%H IV. [giTel® sgas®
- fau Y fd@ el O 9 981 SR I:
Options :

71550513867, A-IL B-IV, C-I. D-III
71550513868, A-IL B-I. C-IV, D-III
71550513869, A-IV. B-1. C-III. D-II

71550513870, A-IV. B-III. C-I. D-II
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Question Number : 81 Question Id : 7155054392 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
At 600K, the root mean square (rms) speed of gas X (molar mass =40) 1s equal to the most probable speed of

gas Y at 00K. The molar mass of the gas Yis g mol™ (Nearest integer)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 7155054392 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



600K TR, T X (HITR SogHIH = 40) &1 971 1 J a1 (rms) 90K TR IF Y &
%ﬁé?ﬁ%@@?%l TYPIAREGHATT  gmol gl (RPedH
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054393 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Values of work function (W) for a few metals are given below

i
=
=]

Metal Li Na
WoleV 242 23 225

Cu Ag
4 8 4.3

Laa
-_\_l t

The number of metals which will show photoelectric effect when light of
wavelength 400nm falls on 1t 15

Given: h=6.6 x 10T s
c=3x10%m ¢!

e=1.6x10712¢C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count: Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054393 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-d T U1qsil & P B (W,) & 3 fSU U &:

HTq L1 MNa 158 Mg Cu Ag
W,/eV 247 .3 025 3.7 4 8 43

I T3] @1 Tt Sl 39 IR USH aTdl 400nm 1 aTeH aTd W<l & A1y
THTRT [AGHd WHTd T Rid Bl

T T8 h=6.6x 1073475

c=3x10%m s}

e S [ ©

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155054394 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

One mole of an ideal gas at 350K 15 in a 2.0 L vessel of thermally conducting walls, which are in contact with
the surroundings. It undergoes isothermal reversible expansion from 2.0L to 3.0L against a constant pressure

of 4 atm, The change in entropy of the surroundings (AS) 1s TK! (Nearest integer)
Given: R=8.314TK ™ mol'.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



10

Question Number : 83 Question Id : 7155054394 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

350K TR fardlt oe®l 719 &1 U@ Aid Swiig qara® feaRi ad 2.0 LS U H §
ofl aRaY & Td H B 1 399 4 atm & fRR 36 | AT SchHUNT YRRV &
HRUT 3T 2.0L  3.0L 81 SIIdl ¢ | IRaY &1 T 1dl gRadA (as)

1K1 g1 (Meeas quie o)

fear T e: R=8.314 JK ! mol .

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 7155054395 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

80 mole percent of MgCl, 1s dissociated i aqueous solution. The vapour pressure of 1.0 molal aqueous
solution of MgCl, at 38°C is mm Heg. (Nearest integer)

Given ; Vapour pressure of water at 38°C 1s 50 mm Hg

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 84 Question Id : 7155054395 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
MgCl, BT 80 HId Uii=id Sieiyg fdqa ¥ fagiford g1 38°C WR 1.0 Hidd MeCl,
Sty faeg &1 arsd g| mm He 8 | (Mocaq quis o)

3@ : 38°C TR 9@ &1 a9 He G|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155054396 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An analyst wants to convert 1L HCI of pH =1 to a solution of HCI1 of pH 2. The
volume of water needed to do this dilution 1s mL. (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155054396 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



0% fa%ey® pH =1 & 1L Hel foeeH & gRkafdd o= 9gdr g | 59 a1 & g
TGS T BT AT & mL. (M@ead Ul H)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054397 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

The reaction 2NO + Br, — 2ZNOBr

takes places through the mechanism given below:

NO + Br, = NOBr, (fast)
NOBr, + NO — 2NOBr (slow)

The overall order of the reaction is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054397 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3{fHfgpdl 2NO + Br, — 2NOBr
=2 <t T fopanfafy & ary wred gidl 8

NO + Br, = NOBr, (fast)

NOBr, + NO — 2NOBr (slow)
sRfpm AP &
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 7155054398 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Three organic compounds A, B and C were allowed to run in thin layer chromatography using hexane and

gave the following result (see figure). The Ry value of the most polar compound is x 107
A
’
6 cm T B
I T C 8 cm
|4cm
| laem

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

10

Question Number : 87 Question Id : 7155054398 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

$F F1df® 9fiE A, B 14 ¢ T& Yo TRd quichg T 898H &1 SUUHT 9% g1 U fursid fg afvomg
I (e o) | it e Tifias R A1 x 1072

| TC §cm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054399 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



1) NH,Cl/KCN Cone. HNO; —H,S0,
H;C,0 ch,cro DN R b o T

B‘J
“ (HSo,HT 7 2eq

(i) (CH;00),0
(if) EtOIL, A

(i) H,,pd/ C
(iv) TINO,
W) Nal  (GHNOJ)

The value of x m compound D' is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054399 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i) NH,C1/ KCN Cone. HNO; =H,S0,
H.C,0 c,co YN W R, M it
T B (1) I1,50,M 2eq

B!

(i) (CH;C0),0
(i) ELOIL, A

(ifi) Hy:P9/C

(iv) TNO,
) Nal  (GHNOL)

3 k]

Ui D ¥ x PTAH -
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 7155054400 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In an oligopeptide named Alanylglycylphenyl alanyl isoleucine, the number of
sp* hybridised carbons is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 7155054400 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

UaeraTgiid bidsTar-d EaegdH e HIRHULES H sp? hiid
HIa- TRATIH 31 T 3

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10



Question Number : 90 Question Id : 7155054401 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The mass of NH; produced when 131.8 kg of cyclohexanecarbaldehyde undergoes

Tollen's test is kg. (Nearest Integer)
Molar Mass of C = 12g/mol
N = 14g/mol
0 = 16g/mol
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 7155054401 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Od 131.8 ke HISHIGHRIA BIEICSEISS Cla- YIS &dl & dl Sdliad NH; Pl

oI ke &1 (Mepea guife )

OeR Go0HM: € = 12g/mol

N = l4g/mol

O = 16g/mol
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :
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